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vjpu;tUk; fy;tpg; nghJj; juhjug; gj;jpu rhjhuz jug;  

guPl;irf;Fj; Njhw;wTs;s khztu;fSf;fhd  

tpNrl ,lu;fhy nraw;wpl;lk; - 2021 

khjpup tpdhj;jhs; - I  
juk; - 11 fzpjk; - I Neuk; :- 2 kzpj;jpahyk; 

gFjp - A 

 vy;yh tpdhf;fSf;Fk; ,t;tpdhj;jhspNyNa tpil vOJf. 

01) 2.5 fpNyhfpuhk; vj;jid fpuhk; MFk;? 

 

 
 

02) jPu;f;f. 3𝑥 = 15 

 

 
 

03) Neu;r;Rl;bahfj; jUf.  
1

𝑥−2 

 

 
 

04) RUf;Ff. 
1

𝑥
−  

1

2𝑥
 

 

 
 

05) cUtpy; 𝑥 If; fhz;f. 

 

 

 

 

 

06) 8 kdpju; 12 ehl;fspy; nra;Ak; Ntiyia 6 kdpju; vj;jid ehl;fspy; nra;tu;? 

 

 
 

07) 3𝑥2 , 6𝑥𝑦 vd;gtw;wpd; ngh. k. rp. ahJ? 
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𝑩 

𝑨 

𝑪 
𝑫 

𝒙 𝟓𝟎° 

𝟕𝟎° 
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08) log2 8 = 3 vd;gijr; Rl;b tbtpy; vOJf. 

 

 

 

09) (𝐴 ∪ 𝐵)′ vDk; gpuNjrj;ij epow;Wf. 

 

 

 

 

 

10) milg;G ePf;fpr; RUf;Ff.  2(𝑥 + 4) − 5 

 

 

 

11) cUtpy; ehz; 𝐴𝐵 ,d; ePsk; ahJ? 

 

 

 

 

 

 

12) 𝑣 = 𝑢 + 𝑎𝑡 vDk; #j;jpuj;jpy;  

𝑡 I vOthahf khw;Wf. 

 

 

 

 

13) 3𝑥 − 1 ≤ 5 vDk; rkdpypiaj; jpUg;jp nra;Ak; vy;yh Neu; KO vz;fisAk; 

vOJf. 

 

 

 

14) √40 vd;gJ ve;j ,U KO vz;fSf;fpilapy; mike;Js;sJ? 

 

 

 

 

𝜺 

𝑨 𝑩 

𝑨 𝑩 

𝑶 

𝟑 𝒄𝒎 𝟓 𝒄𝒎 

𝑵 
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15) ,U Kf;NfhzpfSk; Nfh> Nfh> x.g 

vDk; epge;jidf;Nfw;g xUq;fpirAk; 

vdpy; gf;fk; 𝐴𝐵 w;Fr; rkdhd gf;fj;ij 

vOJf. 

 

 

 

 

16) $l;ly; tpUj;jp xd;wpd; KjYWg;G 4 MFk;. mjd; ehd;fhk; cWg;G 13 MFk;. 

,t;tpUj;jpapd; nghJtpj;jpahrk; ahJ? 

 

 

 

 

17) 𝐴 ∶ 𝐵 = 2 ∶ 3 ,   𝐵 ∶ 𝐶 = 6 ∶ 5 vdpy; 𝐴 ∶ 𝐵 ∶ 𝐶 vDk; tpfpjj;ijf; fhz;f. 

 

 

 

 

18) fhuzpg;gLj;Jf. 2𝑥2 − 8 

 

 

 

 

19) cUtpy; 𝐴𝐵 tpl;lkhFk;.  

𝑥 If; fhz;f. 

 

 

 

 

20) NfhL 𝐶𝐷 ,d; gbj;jpwidf; fz;L mjd; 

rkd;ghl;il vOJf. 

 

 

 

 

 

𝑩 

𝑨 

𝑪 
𝑸 

𝑹 𝑷 

𝑩 𝑨 

𝑪 

𝑶 

𝒙 𝟐𝒙 

𝑩 

𝑪 

𝑨 

𝑫 

𝒙 

𝒚 

(𝟎, 𝟐) 
𝒚 = 𝒙  
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21) tl;lk; xd;wpd; gupjpapd; ePsk; 88 𝑐𝑚 vdpy; mjd; Miuiaf; fhz;f. 

 

 

 

 
22) ,ilntsp epug;Gf. 

,izfuk; xd;wpd; vjpu; ............................ rkkhtJld; mjd; %iy tpl;lq;fs; 

..................................... ,Urk$wpLk;. 

 

23) 𝐴𝐵, 𝐶𝐷 vd;gd ,uz;L epiyf;Fj;jhd 

fl;blq;fs; fpilj;jiuapy; mike;Js;sd. 

fl;blk; 𝐶𝐷 apd; cr;rp 𝐷 apypUe;J 

mtjhdpf;Fk; xUtUf;F fl;blk; 𝐴𝐵 apd; 

cr;rp 40° Vw;wf; Nfhzj;jpYk; mjd; mb 45° 

,wf;ff; Nfhzj;jpYk; njd;gLfpwJ. ,e;jj; 

jfty;fis cUtpy; Fwpj;Jf; fhl;Lf. 

 

 

 

24) xOq;fhd gy;Nfhzp xd;wpd; mff;Nfhzk; xd;wpd; gUkd; 135° MFk;.  

Gwf;Nfhzk; xd;wpd; gUkd; ahJ? 

 

 

mg;gy;Nfhzp vj;jid gf;fq;fisf; nfhz;lJ? 

 

 

 

25) 𝐴𝐵, 𝐴𝐶 vDk; ,U Neu;NfhLfSf;Fr; 

rkJ}uj;jpy; mirAk; Gs;spapd; 

xOf;ifg; gUk;gbahf tiuf. Nkw;gb 

xOf;fpy; miktJk; NfhL 𝐴𝐵 

apypUe;J 4 𝑐𝑚 J}uj;jpy; ,Ug;gJkhd 

Gs;sp 𝑋 Ig; gUk;gbg; glj;jpy; Fwpf;f. 

 

  

𝑨 𝑩 

𝑪 

𝑩 

𝑨 

𝑫 

𝑪 
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gFjp - B 

 vy;yh tpdhf;fSf;Fk; tpil jUf. 

01) xUtu; jd;dplkpUe;j gzj;jpd; 
2

5
 gq;F gzj;ij tPl;L tupahfr; nrYj;jpdhu;. 

kPjpg; gzj;jpd; 
1

3
 gq;F gzj;ij tPl;Lj; jpUj;jj;jpw;Fr; nryT nra;jhu;. 

(i) tupahfr; nrYj;jpa gpd; vQ;rpa gzk; vd;d gpd;dkhFk;? 

 

 

 

(ii) tPl;Lj; jpUj;jj;jpw;Fr; nryT nra;j gzk; KOg; gzj;jpd; vd;d 

gpd;dkhFk;? 

 

 

 

(iii) nkhj;jkhfr; nryT nra;j gzk; KOg; gzj;jpd; vd;d gpd;dkhFk;? 

 

 

 

(iv) kPjpahfTs;s gzk; & 3000 vdpy; Muk;gj;jpy; mtuplkpUe;j gzk; 

vt;tsT? 

 

 

 

 

 

02) cUtpy; epyk; xd;wpd; fpilg;glk;  

jug;gl;Ls;sJ. 

(i) fhy;tl;l tise;j gFjpapd;  

ePsk; ahJ? 

 

 

 

(ii) nrt;tfg; gFjp 𝐴𝐵𝐶𝐷 ,d;  

ePsk; ahJ? 

 

 

 

𝟑𝟒 𝒎 

𝟏𝟒 𝒎 

𝑫 

𝑨 

𝑬 

𝑩 
𝑭 

𝑪 
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(iii) nrt;tfg; gFjp 𝐴𝐵𝐶𝐷 ,d; gug;gsT ahJ? 

 

 

 

 

(iv) ,r;nrt;tfg; gFjpapd; gug;gstpd; 
1

4
 gq;F gug;gstpw;Fr; rkgug;gsTs;s 

nrq;Nfhz Kf;Nfhz gFjp 𝐴𝐵𝐸 mikf;fg;gl;Ls;sJ. 𝐴𝐸 ,d; ePsk; ahJ? 

 

 

 

 

 

03) (a) jsghlk; xd;wpid cw;gj;jp nra;Ak; NghJ mjd; %yg;nghUspd; 

ngWkjpf;Fk; $ypf;Fk; ,ilapyhd tpfpjk; KiwNa 5 ∶   2 MFk;. 

(i) %yg; nghUspd; ngWkjp & 12500 vdpy; $yp vt;tsT? 

 

 

 

(ii) jsghlj;jpd; ngWkjp ahJ? 

 

 

 

(iii) 20% ,yhgj;Jld; ,j;jsghlj;jpid tpw;gjhapd; mjd; tpw;gid 

tpiy ahJ? 

 

 

 

(b) Mz;Lg; ngWkhdk; & 24000 vd kjpg;gplg;gl;l fl;blk; xd;Wf;F 

efurigahy; 12 % Mz;L tup mwtplg;gLfpwJ. nrYj;j Ntz;ba 

fhyhz;L tup ahJ? 
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04) juk; 11 tFg;gpy; khztu;fs; fw;Fk; ghlq;fspd; tpguq;fs; gpd;tUk; 

tl;ltiugpy; fhl;lg;gl;Ls;sJ. 

 

 

 
 

 

 

 

(i) mjpfkhd khztu;fs; tpUk;gpf; fw;Fk; ghlk; vJ? 

 

 

 

 

(ii) Mq;fpy ghlj;ijf; Fwpf;Fk; Miur;rpiwf; Nfhzk; ahJ? 

 

 

 

 

(iii) tpQ;Qhd ghlj;ij tpUk;Gk; khztu;fs; 55 Ngu; vdpy; jkpo; ghlj;ij 

tpUk;Gk; khztu;fspd; vz;zpf;if ahJ? 

 

 

 

 

(iv) ,t;tFg;gpYs;s khztu;fspd; nkhj;j vz;zpf;if ahJ? 

 

 

 

 

(v) fzpj ghlj;ij tpUk;Gk; khztu;fspd; vz;zpf;ifia tpl tpQ;Qhd 

ghlj;jpid tpUk;Gk; khztu;fspd; vz;zpf;if vt;tsT mjpfkhf css;J? 

 

 

 

 
 
 
 
 
 

jkpo;; 

tpQ;Qhdk; 

fzpjk; 

Mq;fp 
yk; 

𝟏𝟏𝟎° 

𝟏𝟐𝟎° 

𝒙 
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05) 1 njhlf;fk; 4 tiu ,yf;fkplg;gl;l ehd;Kfpj; jhaf;fl;il xd;Wk; 1 njhlf;fk; 

6 tiu ,yf;fkplg;gl;l rJuKfpj; jhaf;fl;il xd;Wk; xUkpj;J cUl;Lk; NghJ 

ngwg;gLk; gupNrhjidapd; khjpupntsp fhl;lg;gl;Ls;sJ. 

 

 

 

 

 

 

 

 

 

 

(i) ,e;epfo;tpd; nkhj;j epfo;r;rpfs; vj;jid? 

 

 

 

(ii) glj;jpy; fhl;lg;gl;Ls;s epfo;r;rp 𝐴 ,idr; nrhw;fspy; tpgupj;J vOJf. 

 

 

 

(iii) epfo;r;rp 𝐴 epfo;tjw;fhd epfo;jfT 𝑃(𝐴) If; fhz;f. 

 

 

 

 

(iv) ehd;Kfpj; jhaf;fl;ilapy; ,yf;fk; 2 tpOtjw;fhd epfo;r;rp 𝐵 vdpy; 𝐵 I 

glj;jpy; Fwpf;f. 

 

(v) epfo;r;rpfs; 𝐴, 𝐵 vd;gd jk;Ks; GwePq;Fk; epfo;r;rpfsh? fhuzk; jUf. 

 

      

      

      

      𝟏 

𝟐 

𝟑 

𝟒 

𝟏 𝟐 𝟑 𝟒 𝟓 𝟔 rJuKfpj; 
jhaf;fl;il 

ehd;Kfpj; 
jhaf;fl;il 𝑨 
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vjpu;tUk; fy;tpg; nghJj; juhjug; gj;jpu rhjhuz jug;  

guPl;irf;Fj; Njhw;wTs;s khztu;fSf;fhd  

tpNrl ,lu;fhy nraw;wpl;lk; - 2021 

khjpup tpdhj;jhs; - I  
juk; - 11 fzpjk; - II Neuk; :- 3 kzpj;jpahyk; 

Nkyjpf thrpg;G Neuk; 10 epkplk;  

gFjp - A 

 Ie;J tpdhf;fSf;F kl;Lk; tpil vOJf. 

01) (a) & 8000 I 5 % Mz;L vspa tl;bf;Ff; fldhfg; ngw;w xUtu; & 9200 Ir; 

nrYj;jp fldpypUe;J tpLgLfpwhu;. 

 (i) tl;bahfr; nrYj;jpa gzk; vt;tsT? 

 (ii) & 8000 w;F Xuhz;L tl;b vt;tsT? 

 (iii) vj;jid tUlq;fspy; fld; jpUg;gpr; nrYj;jg;gl;lJ? 

(b) fk;gdp xd;wpy; xUtu; & 50000 I Kjypl;L gq;F xd;W & 25 tPjk; 

nfhs;tdT nra;fpwhu;. 

 (i) nfhs;tdT nra;j gq;Ffspd; vz;zpf;if ahJ? 

 (ii) Mz;bd; ,Wjpapy; fk;gdp gq;F xd;wpw;F & 4.50 gq;fpyhgkhf 

toq;Fk; vdpy; mtUf;Ff; fpilf;Fk; Mz;Lg; gq;fpyhgk; vt;tsT? 

 

02) 𝑦 = 𝑥2 − 2𝑥 − 3 vDk; tiuig tiutjw;fhd G+uzg;gLj;jg;glhj ml;ltiz 

fPNo jug;gl;Ls;sJ. 

𝑥 −2 −1 0 1 2 3 4 

𝑦 5 0 −3 ............ −3 0 5 

 
(a) (i) ml;ltizapYs;s ,ilntspia epug;Gf. 

 (ii) tiuGj;jhspy; nghUj;jkhd mstpiliaj; njupT nra;J rhu;gpd; 

tiuig tiuf. 

 

(b) tiugpypUe;J gpd;tUtdtw;Wf;F tpil jUf. 

 (i) rhu;gpd; jpUk;gw; Gs;spapd; Ms;$W ahJ? 

 (ii) rhu;G kiwahf ,Uf;Fk; 𝑥 ,d; ngWkhd tPr;R ahJ? 

 (iii) 𝑥2 − 2𝑥 − 3 = 0 vDk; rkd;ghl;bd; %yq;fis vOJf. 

 

10.10.2021 



 

fzpjk; - II 2 juk; - 11 
 

 

03) (a) ,U vz;fspd; $l;Lj;njhif 16 MFk;. mt; vz;fspy; Xu; vz;zpd; %d;W 

klq;fhdJ kw;iw vz;Zf;Fr; rkdhFk;. 

 (i) ngupa vz;iz 𝑥 vdTk; rpwpa vz;iz 𝑦 vdTk; nfhz;L 

xUq;fik rkd;ghl;bid mikf;f. 

 (ii) xUq;fik rkd;ghl;bidj; jPu;j;J mt;tpU vz;fisAk; fhz;f. 

 

(b) 𝑥2 − 4𝑥 − 2 = 0 vDk; ,Ugbr; rkd;ghl;bid epiwtu;f;fkhf;Ftjd; %yk; 

jPu;f;f. (√6 = 2.44 vdf; nfhs;f) 

 

04) tpisahl;L tPuu; xUtuhy; fpupf;fw; Nghl;bfspy; ngw;w Xl;lq;fs; gw;wpa 

jfty;fs; jug;gl;Ls;sJ. ,t; ml;ltiziag; gpujp nra;J fPo;tUk; 

tpdhf;fSf;F tpil jUf. 

ngwg;gl;l 
Xl;lq;fs; 

eLg;ngWkhdk; 
(𝑥) 

Nghl;bfspd; 
vz;zpf;if (𝑓) 𝑓 × 𝑥 

00 − 20  1  

20 − 40  3  

40 − 60  5  

60 − 80  8  

80 − 100  2  

100 − 120  1  
 

(i) Mfhu tFg;ghapil ahJ? 

(ii) NkNyAs;s ml;ltiziag; G+u;j;jp nra;f. 

(iii) mtu; ngw;w Xl;lq;fspd; ,iliaf; fhz;f. 

(iv) Fwpj;j tPuu; 50 Nghl;bfspy; ngwf;$ba nkhj;j Xl;lq;fspd; vz;zpf;if 

vt;tsT vd vjpu;ghu;f;fyhk;? 

 

05) (a) jug;gl;l cUthdJ 21 𝑐𝑚 Miu 

nfhz;l jpz;k miuf;Nfhs 

nkhd;wpd; ikaj;jpy; 7 𝑐𝑚 

MiuAk; 10 𝑐𝑚 cauKk; nfhz;l 

cUis tbtpyhd gFjp 

mfw;wg;gl;Ls;sijf; fhl;LfpwJ.  

(𝑟 MiuAk; ℎ cauKk; nfhz;l cUisapd; fdtsT 𝜋𝑟2ℎ MFk;.  

𝑟 MiuAila Nfhsj;jpd; fdtsT 
4

3
𝜋𝑟3 MFk;) 

𝟐𝟏 𝒄𝒎 

𝟏𝟎𝒄𝒎 

𝟕𝒄𝒎 
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 (i) cUisg; gFjp mfw;Wtjw;F Kd; miuf;Nfhsj;jpd; fdtsT ahJ? 

 (ii) cUisg; gFjpapd; fdtsT ahJ? 

 (iii) vQ;rpa gFjpapd; fdtsT ahJ? 

 

(b) klf;if ml;ltiziag; gad;gLj;jpr; RUf;Ff. 

√25.42 × 4.23

0.536
 

 

06) epky; vd;gtu; Nkhl;lhu; irf;fpspy; jdJ tPl;bypUe;J E}yfj;jpw;Fr; nrd;W 

mq;F rpwpJ Neuj;jpid nrytopj;j gpd; jdJ tPl;bw;F tUtjw;F tiuag;gl;l 

J}u - Neu tiuG fhl;lg;gl;Ls;sJ. 

 

 

 

 

 

 

 

 

 

 

 

 

tiuigg; gad;gLj;jp gpd;tUk; tpdhf;fSf;F tpil jUf. 

(i) epkypd; tPl;bypUe;J E}yfj;jpd; J}uk; ahJ? 

(ii) epky; E}yfj;jpw;Fr; nry;y vLj;j Neuk; vt;tsT? 

(iii) epky; E}yfj;jpw;Fr; nrd;w fjpia 𝑘𝑚ℎ−1 y; fhz;f. 

(iv) epky; tPl;bw;F jpUk;gp te;j fjpia 𝑘𝑚ℎ−1 y; fhz;f. 

(v) tPl;bypUe;J E}yfj;jpw;F 72 𝑘𝑚ℎ−1 vDk; fjpapy; nrd;wpUg;gpd; mjw;F 

vLf;Fk; Neuj;ij epkplj;jpy; jUf. 

  

𝟎 𝟓 𝟏𝟎 𝟏𝟓 𝟐𝟎 𝟐𝟓 𝟑𝟎 𝟑𝟓 

𝟐 

𝟒 

𝟔 

𝟖 

𝟏𝟎 

𝟏𝟐 

𝟏𝟒 

𝟏𝟔 

𝟏𝟖 

J}uk; (𝒌𝒎) 

Neuk; (epkp) 
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gFjp - B 

 Ie;J tpdhf;fSf;F kl;Lk; tpil vOJf. 

07) (a) $l;ly; tpUj;jp xd;wpd; Kjyhk; cWg;G 5 MFk;. mjd; nghJ tpj;jpahrk; 

3 MFk;. 

 (i) ,t;tpUj;jpapd; Kjy; %d;W cWg;Gf;fis vOJf. 

 (ii) ,t;tpUj;jpapd; 𝑛k; cWg;G 𝑇𝑛 I 𝑛 rhu;ghff; fhz;f. 

 (iii) ,t;tpUj;jpapd; 20k; cWg;G ahJ? 

 (iv) Kjy; 20 cWg;Gf;fspd; $l;Lj;njhif ahJ? 

 

(b) 4, 8, 16, 32, .......... vDk; ngUf;fy; tpUj;jpapd; 

 (i) KjYWg;G ahJ? 

 (ii) nghJtpfpjk; ahJ? 

 (iii) ,t;tpUj;jpapd; 11k; cWg;ig 2 ,d; tYthf vOJf. 

 

08) ftuhak;> 𝑐𝑚/𝑚𝑚 mstpilAs;s Neu;tpspk;G Mfpatw;iw khj;jpuk; gad;gLj;jp 

gpd;tUk; mikg;gpid tiuf. 

(i) 𝐴𝐵 = 8𝑐𝑚, 𝐵𝐴̂𝐶 = 60° , 𝐴𝐶 = 5𝑐𝑚 MfTs;s Kf;Nfhzp 𝐴𝐵𝐶 I mikf;f. 

(ii) gf;fk; 𝐵𝐶 apd; nrq;Fj;J ,Urkntl;bia mikf;f. 

(iii) 𝐵𝐷 = 𝐶𝐷 MFkhW Gs;sp 𝐷 I gf;fk; 𝐴𝐵 apy; Fwpf;f. 

(iv) gf;fk; 𝐵𝐶 ,w;Fr; rkhe;jukhf Gs;sp 𝐷 apD}L tiuag;gl;l NfhL gf;fk; 

𝐴𝐶 I ntl;Lk; Gs;spia 𝐸 vdf; Fwpf;f. 

(v) ∆ 𝐵𝐶𝐷 gug;gstpw;Fr; rkgug;gsTs;s Kf;Nfhzp xd;iw vOjp fhuzj;ijf; 

Fwpg;gpLf. 

 

09) ,izfuk; 𝐴𝐵𝐶𝐷 ,y; 𝐴𝐷̂𝐶 , 𝐵𝐶̂𝐷 vd;gtw;wpd; ,U$whf;fpfs; gf;fk; 𝐴𝐵 ,y; 𝐸 

vDk; Gs;spapy; re;jpf;fpd;wd. 

gpd;tUtdtw;iw epWTf. 

(i) 𝐶𝐸̂𝐷 = 90° 

(ii) 𝐴𝐷 = 𝐴𝐸 

(iii) Gs;sp 𝐸 vd;gJ gf;fk; 𝐴𝐵 ,d;  

 eLg;Gs;sp. 

 

 

 

𝑬 

𝑫 

𝑨 𝑩 

𝑪 
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10) (a) Fwpj;j xU Njrg;glkhdJ 1 ∶ 50000 vDk; mstpilf;F tiuag;gl;Ls;sJ. 

mstpilg; glj;jpy; 8 𝑐𝑚 ,dhy; Fwpf;fg;gLk; ePsk; vj;jid 𝑘𝑚 If; 

Fwpf;Fk; vdf; fhz;f. 

 

(b) JiwKfk; 𝐴 apypUe;J JiwKfk; 𝐵 ahdJ 030° jpirNfhspy; 60 𝑘𝑚 

J}uj;jpYk; JiwKfk; 𝐶 ahdJ JiwKfk; 𝐵 apypUe;J 120° jpirNfhspy; 

80 𝑘𝑚 J}uj;jpYk; cs;sd. 

 (i) 1 𝑐𝑚 MdJ 10 𝑘𝑚 If; Fwpj;J mstpilg; glk; tiuf. 

 (ii) JiwKfk; 𝐴 apypUe;J JiwKfk; 𝐶 w;Fs;s J}uk; vj;jid 𝑘𝑚 vdf; 

fhz;f. 

 

11) cUtpy; 𝑂 vd;gJ tl;lj;jpd; ikakhFk;. 𝑅𝑃̂𝑄 = 30° MFk;. 

 

 

 

 

 

 

(i) 𝑅𝑂̂𝑄 ,d; ngWkhdk; ahJ? 

(ii) rkgf;f Kf;Nfhzp xd;iwg; ngaupLf. 

(iii) 𝑄𝑅 = 5.2 𝑐𝑚 vdpy; tl;lj;jpd; tpl;lj;jpd; ePsk; ahJ? 

(iv) 𝑄𝑅̂𝑆 = 125° vdpy; 𝑃𝑅̂𝑆 ,d; ngWkhdk; ahJ? 

(v) 𝑂𝑄̂𝑆 ,d; ngWkhdk; ahJ? 

 
12) (a) ghlrhiy xd;wpy; gzpGupAk; 40 Mrpupau;fspy; Nkhl;lhu; irf;fps;> fhu; 

vd;gtw;iw itj;jpUf;Fk; Mrpupau;fspd; tpguk; Nrfupf;fg;gl;l NghJ fhu;> 

Nkhl;lhu; irf;fps; Mfpa thfdq;fspy; vjidAk; itj;jpuhj Mrpupau;fspd; 

vz;zpf;if 6 Ngu; MFk;. Nkhl;lhu; irf;fps; itj;jpUg;gtu;fspd; 

vz;zpf;if 30 Ngu; MFk;. VjhtJ xU thfdk; kl;Lk; itj;jpUg;gtu; 

fspd; vz;zpf;if 22 MFk;.  

(i) ,j;juTfis ntd;DUtpy; Fwpj;Jf; fhl;Lf. 

 

 

 

  

𝑷 

𝑸 𝑹 

𝑺 𝑶 

𝟑𝟎° 

𝜺 

fhu; 
itj;jpUg;gtu;fs; 

Nkhl;lhu; irf;fps; 
itj;jpUg;gtu;fs; 
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(ii) ,t;tpU thfdq;fisAk; itj;jpUf;Fk; Mrpupau;fspd; vz;zpf;if 

ahJ? 

(iii) ,t;tpU thfdq;fspy; Fiwe;jJ xd;iwNaDk; itj;jpUf;Fk; 

Mrpupau;fspd; vz;zpf;if ahJ? 

 

(b) ig xd;wpDs; xNu msthd 4 rptg;G epwg; ge;JfSk; 3 gr;ir epwg; 

ge;JfSk; 2 ePy epwg; ge;JfSk; cz;L. igapypUe;J xU ge;J vOkhwhf 

ntspNa vLf;fg;gLfpwJ. vLf;fg;gLk; ge;J gr;ir epwkhf ,Ug;gjw;fhd 

epfo;jfT ahJ? 

 

 


